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QUESTION 1

A table named DEPARTMENT contains the following data: 

What will happen? 

A. The statement will fail because a subquery cannot be used in an UPDATE statement. 

B. The statement will fail because the result set produced by the subquery will contain more than one row. 

C. The statement will succeed; the last record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

D. The statement will succeed; the first record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation. 

Correct Answer: B 

 

 

QUESTION 2

When is it appropriate to use a sequence? 

A. When you want to control the order in which triggers are fired. 

B. When you want to control the order in which stored procedures can be invoked. 

C. When you want to automatically generate a numeric value that is not tied to any specific column or table. 

D. When you want to automatically generate a numeric value for each row that is added to a specific table. 

Correct Answer: C 
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QUESTION 3

User USER1 wants to retrieve records from a table named EMPLOYEE that satisfy at least one of the following criteria: 

-

The employee\\'s hire date (HIREDATE) is before 1999 and the employee\\'s salary (SALARY) is less than $40,000.00 a
year. 

-

The employee has attended university Which SQL statement will accomplish this? 

A. 

SELECT * FROM employee WHERE (hiredate 

B. 

SELECT * FROM employee WHERE (hiredate 

C. 

SELECT * FROM employee WHERE (hiredate 

D. 

SELECT * FROM employee WHERE (hiredate 

Correct Answer: A 

 

QUESTION 4

What is the act of exchanging one lock an application holds on a resource for a more restrictive lock on the same
resource known as? 

A. Lock escalation 

B. Lock substitution 

C. Lock switch/exchange 

D. Lock conversion/promotion 

Correct Answer: D 

 

QUESTION 5

Which DB2 product is NOT suitable for very large data warehouse applications? 

A. DB2 for i 
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B. DB2 for AIX 

C. DB2 for z/OS 

D. DB2 for Linux 

Correct Answer: A 
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